| pBprc EEEGIEEETERTN)

m\~
\w I l

Lf

IMAOC

(%Hxﬁ\ 2_'[@) [pC)-8 (F]RE)
(FHE. E6)
*One Point :] Al RERPO)
2 HIKAER ABSHI S &
R: 48, B: B 36048
(TH]RE)
a6 e AR
m = | m = | P | M MW
PB20X 5R | PB20X 5B 20 M 5X0.8 19 10 5
PB20X 6R | PB20X 6B M 6X1
PB25X 6R | PB25X 6B
PB25X 8R | PB25X 8B 2 M 8X1.25 24 14 10
PB32X 8R | PB32X 8B '
PB32X10R | PB32x10B | -2 oxis %0 20
PB40X10R | PB40X10B ' 20
PB40X12R | PB40X12B 40 M12X175 38 40
PB50X12R | PB50X12B ' 22
PB50X16R | PB50%X16B 50 M16X2 48 25 8
(H#]RE)
gae 2 Ee
Al = 7l = D M H Lf (2)
PC20X 5R | PC20X 5B 20 M 5X0.8 19 8 7
PC20X 6R | PC20X 6B M 6X1 10
PC25X 6R | PC25X 6B 25 o4 15
PC25X 8R | PC25X 8B M 8X1.25 1
PC32X 8R | PC32X 8B 3 ' 30 25
PC32X10R | PC32X10B M10X1.5 15 30
PC40X10R | PC40X10B 40 ' 38 50
PC40X12R | PC40X12B M12x1.75 18 55
PC50X12R | PC50X12B 50 ' 48 100
PC50X16R | PC50X16B M16X2 25 125
- [PBI(TCHAE) RUIR L2 E0ME S HERZ , RIRPIRTEIT TR ?‘ H:EF/E%#EEFHHT RAEF R A B

g, BFERMETAZKS.
- BEREA MBS BEHIAE AT
(#E#=15 FICEMED INEA B BI#BLRX No. 8008.)



